10

n

12

13

14

16

17

18

GN 6071

INOX | ¥4
samess| | ROHS
ST

REH

/AR EEN, HRE L

- AEL REREES
- AKEL Bt EES
IR ST

- kB

- kBB

AISI 303 FEEWFR NI
e s

12

SBK} (SEBEAZPA)

- B, THIE

- REHRED

=8

HELEMNDEHGN 607.1 NAFHEANIEEEREUENTS.

RIERY, FEEAERE, HEFRKI0, 0=
=0

SR KEE UL

GN 607173 LB/ IR RRHE AR L3RS GN 909 (BII
809) / GN 909.5 (BITI809 ) # B’ T RHIET, P S THIEF ML,

ES[ihsS S (I EE =

- DEHERY| (BIRA 738)
ERES
- ISO-BEARNE (BIITA2]) REIRE
TEMFE (BII A26)
| SR (BME A2 f'"EFE"
| BEREER (BRA A2 g, |
<
%]]nm TTTTI —— ‘4‘
smmEs || b A
| Y242 GN 909 / GN 909.5
Re i ASF !
< -
— v
=3 e N
[ ’
[ (; HAAEERS SEBEFIEE GN 609.5
TG
g m
n
[72]
GN 607.1
" ﬁﬁﬁ!iﬁ ﬁﬁﬁiﬁ
me dg:gs;g.l'o:; T ds ex I 12¢05 13-015 &  A/F = 5?__1”,? 52
) i&“hﬁ ﬁﬂ:f"ﬁ
GN 607.1-6-A-ST 6 M12x1.5 25 19.6 45 6 10 5 17 11 28 400 34
GN 607.1-8-A-ST 8 M16x1.5 31 219 54 8 12 6 19 15 29 500 59
GN 607.1-6-AK-ST 6 M12x1.5 25 19.6 45 6 10 5 17 11 28 400 39
GN 607.1-8-AK-ST 8 M16x1.5 31 21.9 54 8 12 6 19 15 29 500 69
GN 607.1-NI W
ﬁﬁﬁli’l ﬁ%ﬁ!i&'
me dé*gs'o?'l?ﬁ;' d2 ds ex I 12:05 13-015 14 A/F = ”fij.”f 5
' ﬁ.&“‘f:lﬁ %ﬂ:ﬂﬁ
GN 607.1-6-A-NI 6 M12x15 25 19.6 45 6 10 5 17 9 25 400 34
GN 607.1-8-A-NI 8 M16x1.5 31 21.9 54 8 12 6 19 13 26 500 50
GN 607.1-6-AK-NI 6 M12x1.5 25 19.6 45 6 10 5 17 9 25 400 42
GN 607.1-8-AK-NI 8 M16x15 31 219 54 8 12 6 19 13 26 500 78

770

2 (€lesaxBANTER

ELESA fl GANTER AR FTEAF .
SHIERNIEEREL,



